Year 2 Fractions - Maths Day 6 							22.6.2020  
Please look through the powerpoint to help you before you start these questions. Remember that you may need to use resources or paper to help you work out some of the answers.
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Reasoning
Remember the GD (gold star) questions are hardest questions so only complete them if you are confident you understand the learning.
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5a. Use the digit cards below to make the
statements correct.

5b. Use the digit cards below to make the
statements correct.
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6a. Annabel makes 21 cupcakes. She
wants to share them equally between 3
friends. She says,

Each friend will get 8
cupcakes because 8 is
—-of21.
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Is Annabel correct? Explain your answer.

6b. Hasan makes 18 sandwiches. He
wants fo share them equally between 3
friends. He says,

Each friend will get 5
sandwiches because 5 is
—of18.

Hasan
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Is Hasan correct? Explain your answer.
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9a. Adil makes 27 pancakes. He wants to
share them equally between 3 friends.
He says,

Each friend will get 8
pancakes because 8 is
1ot27.

Is Adil correct? Explain your answer.

9b. Grace makes 24 tubs of popcorn. She
wants fo share them equally between 3
friends. She says,

Each friend will get 7 tubs of
popcom because 7 is
—Lof2a.

Grace

Is Grace correct? Explain your answer.
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1a. Use the image to complete the

statement.

1 B
Tof 6 is

v

1b. Use the image to complete the
statement.
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2a. Circle -1 of the images and use it to
complete the statement.
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2b. Circle - of the images and use it to
complete the statement.
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4a. Circle —1- of the images and use it to
complete the statement.
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4b. Circle —— of the images and use it to
complete the statement.
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7a. Use the pictures fo complete the
statements.
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7b. Use the pictures to complete the
statements.
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12a. Use counters to complete the bar
model to show one third of 24.

12b. Use counters o complete the bar
model to show one third of 27.
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3a. Stefan makes 12 windmills. He wants

to share them equally between 3 friends.

He says,

Each friend will get 3
windmills because 3 is

Stefan

Is Stefan correct? Explain your answer.

3b. Fatima makes 9 pizzas. She wants to
share them equally between 3 friends.

She says,

Each friend will get 4 pizas
because 4is -1 of 9.
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Is Fatima correct? Explain your answer.





